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Ifx = 2t3 — 15t% + 36t + 1,
y = t? — 8t + 11, then this curve has a ver-
tical tangentatt=...........

o8 13|
A0+ 0V - TOY =
W\\.’ugp\\+u/\-vu=uo
riv @ ¢ (D
O S

YA/ YAV J oW1 5oddl - das i solt Adialt Ase s



YOAMYAY ol yA ALl - 931 5911 - (o 3ulad W1 ASUILY) oLSCiM g (i Laiht - Aoladt Ay 53U Asal 511 ALGH) 3L gs Loniet

For the function f such that
f'(x) = —2x+6, then all of the
following statements are correct

@ The curve of the function f convex
upwards in the interval ]—oo, [

The function f has a local
minimum value at x =3

@ The curve of the function f has no
inflection points

f(x) is decreasing in the interval 13,0l
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If ¥ = ax? such that a and b are constants, S b= o oS 13
1 dy b dx "\‘ - .‘-;{59 .\:)\3 P .

Prove that =X —= - X — Ol Qb o ¢ f Ca
y at x dt ij © P50
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n Find the volume of the solid generated 093 oo (A el o2 A5

by revolving the region bounded by the ool Badm ! ddlatadl
curve ¥ = x*+ 2, the x — axis and the Sledl ygmay of + T = 2
two straight lines x = =2, x =2 Y= m e ¥ o= o il

a complete revolution about the x — axis. | . Sledl s J s> AalS 5, 5
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ﬂ If f(x) = x(a — In x) such that a is constant, | ( ~ 52 - 1) o= = (o») > 05 13)
the curve of the function has a critical point | A g O <ol b &
atx =e jthena=........... | .. Poba= s d > Ak
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A circular sector - like coin whose area | @5 gllad IS e doune dalas
is 4 cm?. Find the radius length of the lad Cagal J s sl 'v—« ¢ di-le
sector’s circle which makes its perimeter | 31 alaswe Jasy g4l gLl 3,515
as minimum as possible. What is the sl an 51y oeld by K Lo
measure of its angle then?
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Bl Find the area of the region bounded by | o &) sl dilaidl A lue dmsl

the curve y = 4 — x? and the straight line (R RN
y=x+2 Yoo = 02 ey
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I, FO0 de =125 70 dx=16, | s | s
then f35 f(x)dx=.......... - w»l_
......... =uﬂ5(u¢>>1¢p
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Answer one of the following items : oY 08,8 gas) e
(A)Find : [ x3 (x* + 1)%dx o <0 +*w)“wlgq.ji ()
(B) Find : [ (x - 3) e* dx s i (r- “‘)1 sl (0)
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ftan@do=......... .| =05 B
@ —In|cosO|+c LHlgle] - @O
® —In cosO +c i‘é*ﬁ\b.-;— @
© Incosf+c c‘»+e\=.>; S,
@ llncos®|+c ¢>+|9\;.>;| ©)
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IRl © 2x-sinx - WV
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Answer one of the following items : 1o I 3,88 ] s
(A) Find the local maximum values and Gloal) (elal el sl ()
the local minimum values of the > A ddodl 6 ol s
function f(x) = x3 — 3 x — 2, and the Voo V- ()0 S
inflection points of the curve of the o) Y Lazs NS
function (if exists ) (a9 Oy DI
(B) Find the absolute extrema values of Jalladl (g graddl v.a)\ a3l (<)
the function f: f(x) = x(x*—12)in G 5 DNl
the interval [—1 ,4] [£01-] 3,0 b (\¥-T0) o= ()
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If f'(x) = x £(x) and f(3) = 5, (0) 3 o= () 7> 238 13
thenf"(3)=........ .| .. = () % ol o-= (1) s =ilS
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The curve of the function

f:f(x)=(x—-2)e", is convex upwards
inthe interval ..................
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Find the equations of the tangent and the go5eally oledl Folas sl
normal to the curve: x = sec 8,y =tan 6 BL= o BB o ol

Vs
atd =< T =B
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If siny + cos 2x = 0, prove that : =Vt e - 0813
d?y dy\? _ S
=) (E) tany = 4cos2x secy .u\gﬂi\s
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